Lesson 06
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I . Match

the sentences to the correct pictures.

A. Is that your bike?

B. This cup is blue.

C. That book is black.

D. Is that your blue bag?




Dialogue

——

- This is a car.

Esta: It’'s a new car.
Aya : That is a car, too.

It’s not a nhew car. It’s an old car.




I . Listen, repeat, and complete. Words

car new old




Dialogue

m——— : This Is a car.

Esta : It's a new car.
Aya :That is a car, too.

: It’s not a new car. It’s an old car.




I . Choose the correct answer. CheCk

1. The white car Is
A. new B. old

2. The blue car is
A. new B. old




I . Listen, repeat and learn. Expressions

It’s a new car.

A

It’s an old car.

v




. Listen, repeat and learn. Expressions

It’s not a new car. It’s a bike.
It’s an old car. It’s an bike.




I . Listen, repeat and learn. Grammar

a_ |

. an apple /'=pal/ @ a ball /bol/

@ anegg /g = a radio /'rerdiou/
&> an igloo /'iglu/ ﬁ a gift /grft

@ an onion /anjen/ e @ knife /narf/
‘ an umbrella /,mbrelo/ e

a vase /veis/




I . Listen, repeat and learn.

i a/an + color + thing |
‘ a red ball ‘ an orange umbrella

% . avellow gift w an orange cup

T { ablack table )# an orange ribbon
Yy N




I . Listen, repeat and learn. Pattern

It's a/an ... J

It’s an ambulance.

\
/

It’'s a blue clock. 7 It’s an ear.

It’s bowl. It’s




"W Cistor,ropeatandleam. L R
i It’s not a/an ... J

ﬂ;\'o It’s not an ambulance.

N
A%,

& It's not a camera.

It's not a blue clock. It's not an ear.

It’s bowl. It’s apple.
s 7




I . Complete the sentences. ChéCk

J 1. It's pen. It’'s a book.

o 2. It’s not ball. It’s
¢

w. 3.It's not an apple.

4. It’s not a red hat. hat.




I . Listen, repeat and learn. Vehicles

\ws al an -

| orange helicopter |

cool motorcycle long plane ' .
14
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Look'Thats
brown motorcycle

tﬂ 111141

é{f That's  a brown

motorcycle That’s
motorcycle
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